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On the axes provided above, draw a PWM waveform, v(f), with a duty cycle of 25% and

average power equal to 625 mW when driving a 250 €2 resistor.

You must label the verticle axis and clearly indicate voltage values for the waveform.

SoL/H:

The waveform must ke l\i,jl\ 29% or one-fourth
of +the +time.

The average power Q@v\qLﬁ the power when
the sijnal ts on ‘times -the Auty cycle.

smW=Pyye= 25% -, = L P,
or ’ “4
Pon = 4 (625 mW) = 2500 mW = 2.5 W

The  power when v (t) ts on is P, = Vt/zso.rt,

2

So V= 2,5W (2509) = 625 Vi o Vea2sV.



